I can solve one-step and two-step missing number equations using inverse operations.

Solving Equations
(

1. Use the diagrams to help you work out the value of x. Show your working out.

a)x+ 12 =19 b)x-3=18 C
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2. Complete the balance diagrams to show the following equations and find the value of x.

a)x +8 =21

b)x-7 =15
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Solving Equations

(

I can solve one-step and two-step missing number equations using inverse operations.

1. Use the diagrams to help you work out the value of x. Show your working out.

a) 2x + 10 = 26
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b) 3x + 9 = 3
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2. Draw your own balancing diagrams to show the following equations and find the value of x.

a) 2x + 8 = 18

b) 3x + 7 = 37

c)13 =4x+5
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Solving Equations
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I can solve one-step and two-step missing number equations using inverse operations.

1. Use the diagrams to help you work out the value of x. Show your working out.

a) 2x-8 =10
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2. Draw your own balancing diagrams to show the following equations and find the value of x.

a)2x-9 =13
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b)3x-10=5

c) 16 = 2(x - 12)

gz

N>~ .
% planit

visit twinkl.com

Maths | Year 6 | Algebra | Express Missing Number Problems Algebraically | Lesson 1 of 1: Solving Equations



https://www.twinkl.co.uk/resources/planit-maths-primary-teaching-resources-year-6/planit-maths-primary-teaching-resources-year-6-algebra/planit-maths-primary-teaching-resources-year-6-algebra-express-missing-number-problems-algebraically

Solving Equations Answers

* * % * % * % * h %
1 x+12=19 2x +10 = 26 2x+8 =18 2x-8=10 2x-9=13
a x=19 -2 2x =26 - 10 2x =18 -8 2x =10+ 8 2x =13+ 9
x=7 2x = 16 2x =10 2x = 18 2x = 22
<-3-13 x=106<+2 x=10=2 x=18=+2 XxX=22+2
b x=18+3 x=3 x=S X =9 x=1
x =2l 3x+9=230 3x+7=37 3x-6=9 3x-10=5
20 = 4x 3x=30-9 3x=37-7 3x =9+6 3x=85+10
cl20+g=x 3x =2 3x = 30 3x =15 3x=1s
S=x x=21+3 xX=30<+3 xX=15+3 xX=15+3
5 Y+ 3= 2 xX=7 x=10 X =S xX=5
. =218 27 =4x+1 13=64x+S 22=6x-6 16 = 2(x - 12)
=13 27 - Nl = 4x 13- 5= 4x 22 + 6 = 4x 16+2=x-12
x—7-1s 16 = 4x g =4x 28 = 4x g=x-12
b Y= IS+ 16 - 4=x 2+-4=x 224 =x g2+12=x
x= 22 49=x 2=x 7=x 20 = x
2] = 3x
cl21+-3=x
7=x
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